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Cluster: 0037 mpn; resid: 0.40; r/c: 21/122

x.range

upstream meme PSSM #1; e=7.6

1 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 131 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+03

1 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 91 3 5 7 9
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adh

outB
pip

rpmG

MPN205

MPN387

5−METHYLAMINOMETHYL−2−THIOURIDYLATE

MPN488
MPN489 arcA

MPN583

atpD
phoU

dnaX

pyrH
MPN655

MPN093

rplA

yceC

MPN370

MPN464 string −200 −100 −1
hypothetical protein: MPN6550.00

F0F1 ATP synthase subunit beta: MPN598−0.08
species specific lipoprotein: MPN489−0.17

METHYLAMINOMETHYL−2−THIOURIDYLATE)−METHYLTRANSFERASE.: MPN422−0.36
proline iminopeptidase: MPN022−0.37

phosphate transport system regulatory protein: MPN608−0.40
probable NH(3)−dependent NAD(+) synthetase: MPN562−0.85

hypothetical protein: MPN583−0.98
hypothetical protein: MPN370−1.57
hypothetical protein: MPN387−1.87

50S ribosomal protein L33: MPN069−1.93
arginine deiminase: MPN560−2.00

50S ribosomal protein L1: MPN220−2.06
similar to NADP−dependent alcohol dehydrogenase: MPN564−2.37

gamma−like: MPN618−2.58
uridylate kinase: MPN632−3.63

r to RIBOSOMAL LARGE SUBUNIT PSEUDOURIDINE SYNTHASE D: MPN292−3.65
hypothetical protein: MPN205−4.14

NifU−like protein: MPN488−4.95
involved in cytadherence: MPN093−6.95
involved in cytadherence: MPN464−7.27

log10(P) upstream meme1 2 log10(P.clust)=−2.29; 21 seqs; 21 uniq
c(0.5, 2.5)
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